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ety yood. Over 804 of'the vandiduton wers able (o obtaln (e required vafues by
\ the formula  Va. ')-B(X’)-(l&(a\'))" 8 the propertles (X + 5w N )48
wd VAl +§) =OVan(X) |

( Very good. Most candidates were able to write P(4'A L) = P(U'| 4')W( A) comety,

but a swall number of candidates were unable to use P(4)mP(4' ')+ P(A A By 10
setan equation in P(d4) or P(4') .

® Good. Many candidates were ableto use P(4A)P(B)=P(4NB) tofind P(B) .

® Very good. Most candidates were able to obtain the required mean, but a small number of
3 candidates were unable to find the required variance.

® Very good. Over 75% of the candidates were able to obtain the probabilities of winning
the big prize and not winning the big prize within the first 4 draws, and drew a comect

conclusion.
© Very good. Over 80% of the candidates were able to obtain the required probability by
using the result of (b).
40 Very good. Over 90% of the candidates were able to obtain the required probability by
using the concept of tree diagram.
®) Very good. Over 85% of the candidates were able to obtain the conditional probability by
using the result of (a).
© Very good. Over 80% of the candidates were able to consider the complementary event to
obtain the required probability.
5@ Good. Some candidates were unable to show that f'(x) <0 to complete the proof.
2
®) Good. Some candidates were unable to consider 11?1 f(x) = Ln:“':Ti to obtain the
x
required limit.
Good. Many candidates were able to use integration to obtain the required area, but some
© candidates were unable to give the answer in exact value.
Very good. About 90% of the candidates were able to expand ¢™'"* , but a small number
‘0 of candidates were unable to show all working.
®) Very good. Most candidates were able to expand (1+4x)" , but a small number of
candidates were unable to express C; intermsof n.
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Number dy . . \
I —Z by using the cha
. ble to find Yy using n rule,
7 @ Good, Many candidates Were® ax
Ive the equation wix 8
() Fair. Some candidates were able to solve q 23x+6 0 by '°'rmvinl
: -50
: th tthat x = ——
the radical. However, many candidates mistakenly thought that x 5 Wasalg s
of the equation.
8 (a) Good. Many candidates Were able to obtain the required answer by taking logarithpyg,
®) Good. Many candidates were able to obtain the required indefinite integra) by
d, .-
considering Ex_(x A E
(c) Fair. Some candidates were able to obtain the required definite integral by using the —
of (b).
S——
Section B
S
Question Performance in General
Number
9 (a) Very good. About 85% of the candidates were able to write down all the six Poissop,
probabilities.
(b) Very good. About 90% of the candidates were able to obtain the required probability by
standardization.
() @) Good. Many candidates were able to obtain the required probability by using the answer
of (b) and the correct Poisson probability.

(i) | Good. Some candidates wrongly multiplied an unnecessary Poisson probability to the
required probability, while some candidates missed the binomial coefficients in finding
the probability.

(iii) | Good. However, some candidates were unable to find the probability that the team wins
exactly § matches in a certain season and is awarded a bonus in that season. As a result,
they were unable to find the required conditional probability.

10 (a) (i) Very good. Over 75% of the candidates were able to use the correct formula to find the
confidence interval.

(ii) Very good. A small number of candidates wrongly used the sample mean in (a)(i) to find
the least sample size.

®) () Good. Many candidates were able to obtain the required answer by standardization, but
some candidates were unable to give the answer in percentage as required.
(i) | Good. Many candidates were able to obtain the required conditional probability by using

the result of (b)(i) .
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n@w Very good. Most candidates were able to use correct sub-Intervals wh
wrapezoidal rule to find @ . on applying the
@ | Good. Many candidates were able to consider the second derivative —Ldz §’) to
!
determine the '2“‘““‘ of the estimate @;. However, some candidates were unable to show
dp(t) _ d*p(r)
clearly that i =0 when £=0 and T >0 for 0<r<4, thus were unable
to draw the correct conclusion that @, is an over-estimate.
®) @) Good. Many candidates were able to use integration by substitution to find 4 .
(i) Poor. Most candidates were unable to use an appropriate compound inequality such as
a—fﬁ > a,/i i >30% to complete the argument.
12 (3 Very good. About 90% of the candidates were able to express ln(%%) as a linear
function of #.
® @ Very good. Over 80% of the candidates were able to find 4 and £ .
(i) | Very good. Most candidates were able to find % by using the chain rule.
(i) | Fair. Many candidates were unable to test whether i—l: attains its least value when
d({dv
d,(z] 0.
() () |Fair. Some candidates were able to obtain the required value of % by writing
-
.d_'g = 2[/? .d_,: ;
& 3 t
() Poor. Most candidates were unable to find the correct expression of ad?(ﬁ) , and
hence were unable to draw a correct conclusion.
Oeneral recommendations
Candidates are advised to;
1, have more practice In counting Involving combinations;
2, have more practice In solving equations involving radicals;
3. have more practice In finding ‘-:Ta” , where a and b are constants;
4, have more practice In finding J a™dx , where a and b are constants; and
5. pay attention 1o the accuracy required for the final answer and keep enough accuracy of intermediate results

for this purposs,
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